{3

INSTALLATION INSTRUCTIONS

FOR INSTALLATION OF ALLEN-BRADLEY 1494V (VARIABLE DEPTH>
MECHANISMS FOR DISCONNECT SWITCHES AND CIRCUIT BREAKERS
IN TWO DOOR ENCLOSURES WITH DISCONNECT ON CENTERPOST,

WIEGMANN

FREEBURG , JLLINOIS . US4

"STEP 1 INSTALL ADAPTER PLATE CITEM 1) AND PLATE GASKET CITEM 2) ON THE INSIDE OF THE ENCLOSURE, BEMIND THC STEP 7 ATTACH THE DOOR CATCH (ITEM 1), YD THC TAPPED SPACER ON THE DOOR USING THE BOTTOM SET OF MIUNTING
RECTANGULAR OPENING PROVIDED IN THE CENTERPOST. SECURE IN PLACE WITH 4 SCREWS CITEM 3. R L e P T My B ADJUSTED
“STEP & ASSEMBLE THE A-D 1494V : MOUN " BEING OPENED WHEN THT A-E OPERATING HONDLE IS IN THE “DN° ON. THE DOOR CA
ENCLOSURE I STEP b Gt chb SCREY A Cevhsie wxgnmgx\?ﬁmnvgéc\"‘r&mfn:"éshﬁLi% TpeRATING UP OR DOWN TO HIIOK PROPERLY O THE DEFEATER BRACKET. THE: BOOR CATCH UTEM 1D WUST BE POSITIONED SO
HANDLE. ALST OMIT A-B SPRING BRACKET WHICH [S NOT REGUIRED. IT JUST CLEARS THE TDP OF THC DEFEATER BRACKET WHEN THE A~ UPERATING HANDLE IS IN EXTREME ‘OFF
: POSITION, IveM 2
STEP 3 - ’
%Zzg fri v, CHES OFF BOTTOM END OF SLIDC ARM (ITEW 4. BOTTIR END OF SLIDE ARH HAS RECTARGULAR STEP 6  DRILL AND TAP HOLES IN PANEL AS SHOWN IN DIAGRAM AND TABLE. SEE ALLEN-BRADLEY INSTRUCTIONS FOR \
LOCATING HOLES FOR FUSE BLOCKS,
"STEP 4 INSTALL THE SLIDE ARM CITEM 4) OVER THE DEFEATER PARTY OF THE A-B DPERATING HANDLE AS SHOWH, NOTE STEP & INSTALL PANEL OM CGLLAR STUDS IN ENCLOSURE.
THAT THE NOTCH IN THZ SLIDE ARK IS POSITIDNED TOWARD THE DODR OPENING. PLACE THE SHALLER DIAMETER
END OF THE SHOULDER COLLAR QTEM 5) THROUGH THE OVAL SLOT IN THC SLIDE ARM, INSTALL LONG CAP SCREV STEP 10 MDUNT DISCONNECT SVITCH DR CIRCUIT BREAKER DN PANEL USING ALLEN-BRADLEY INSTRUCTIONS AND PARTS.
ATEM 6) WITH LOCKWASHER (ITEM 7 THROUGH SHOULDER COLLAR INTU THE BOTTOM MOUNTING HOLE OF THE A~ FIND LENGTH-~DIMENSION “S* FROM TABLE--AND CUT THE A-D CONNECTING ROD 7O LENGTH REGUIRED FRO 12-1/8
OPERATING HANDLE AND TIGHTEN, THE SLIDE ARM SHOULD MOVE UP AND DOWN SKOOTHLY. INSTALL A-B DEFEATER OR 18-1/8 DEEP ENCLOSURES. INSTALL AND ADJUST A-B CONNECTING ROD PER A~B INSTRUCTIDNS. ATTACH A~
BRACKEY PER A-B INSTRUCTIONS. HANDLE RETURN SPRING BCTWEEN CONNECTING LINT ON A~B OPERATING HANDLE AND WOLE PROVIDED IN WIEGHANN
STEP 5 ATTACH THE BUTTOM (¥ THE SLIDE ARM CITEM 4> YO THE OFFSET ARM AS SHOWN, USE TWO FLAT WASHERS ADAPTER PLATE AS SHIWR.
UTEM 8), TWO LOCKWASHERS (ITEH 99, AND TWE HEX NUTS CITEM 103 DO AT TIGHTEN UNTIL PARTS ART NOTE: THE OPTIONAL A~B CHANKEL SUPPORT 1494V-H4 IS RECOMMENDED WHEN INSTALLING DISCONNECTS IN 72-1/8 HIGH
ADJUSTED. - ENCLOSURES. SOMZ OF THE ITEMS IN THIS KIT ARE NOT REQUIRED WHEW USED ON WIEGMANN ENCLOSURES. THIS
STEP € ADJUST THE LENGTH OF THC SLIDE ARM ASSEMBLY. WITH PROPER ADJUSTMENT DF THE SLIDE ARM, THE SAFETY KIT IS NOT REGUIRED FOIR 200 AMP DISCONNECT SWITCHES.
LUCK <IN A-B DPERATING HANDLES SHOULD RELEASE JUST BEFURE THE MASTER BOOR IS FULLY LATCHED.
. LENGTHEN SLIDE ARM [F SAFETY LUCK RELEASES TOO SOON. SHORTEN SLIDE ARM IF ‘SAFETY LOCK RELEASES ¥ THE 200 AMP DISCONMECT SVITCH AND A-B 1494-H2 UPERATING MANDLE REQUIRE DIFFERENT INSTALLATION PROCEDURE. ITEN 3
: TOU LATE, OMIT STEPS 1, 2, AND 4 ON THIS INSTRUCTION SHEET AND FDLLOW STEPS SHOWN ON SUPPLEMENTARY INSTRUCTIDN SHEET.
mes e —f I
- 1 ! N mer 1 -
ITEM 3
PARTS LIST
THIS INSTRUCTION SHEET IS FOR CONNECTING
DISCUNNECY Oh CENTERPOST. FOR INSTALLATION OF ALLEN-BRADLEY LINK PERATOR ADAPTER CAT, NU. WARIARVA
200 AMP DISCONNECT 1494V-DS200, FOR ALLEN-BRADLEY BULLETIN 1494V DISCONNZCTS
400 AMP DISCONNECT 1494V -DS400, IN WIEGMANN ENCLOSURES.
PERAT. -
e AND OPE! ING HANDLE 1494V-He DEFEATER CONNECTING _/
boog ITEM NO. PART NAME ary. LI
STEP | INSTALL ADAPTER PLATE (ITEM 14> AND PLATE GASKEY CITEM 2 DN THE
. INSIDE OF THE ENCLOSURE, BEHIND THE RECTANGULAR UPENING PROVIDEL, HANDLE 1 ADAPTER PLATE, A-B [494-H1 L
iRl SECURE IN PLACE WITH 4 SCREWS (ITEM 3. ikt 2 GASKEY, PLATE i
3 SCREV, 1/420 X 1/2 PAN HD 4
STEP & ASSEMBLE THE A-B 1494V-NZ DPERATING HANDLE TO THE ADAPTER PLATE SPRINGS ‘. SLIDE ARM, FLAT i
WHICH WAS INSTALLED IN STEP L (MIT CAP SCREW AND LOCKWASHER WHICH 5. SHOULDER COLLAR, 3/8 DIA i
FITS INTO BOTTOM HOLE OF A-B UPERATING HANDLE. ALSH OMIT A-B SPRING 6 SCREV, 1/4-20 X 7/8 HEX HD 1 DEFEATER
BRACKET WHICH IS NOT REGUIRED. 7, LOCKWASHER, 1/4 SPRING i
STEP 2 INSTALL A-B DEFEATER BRACKET. SEE A~B INSTRUCTIONS. THEN INSTALL 8 WASHER, FLAT
SLIDE ARH CITEM 15) OVER END OF DEFEATER BRACKET. PLACE THE SMALLER S, LOCKASHER, 174 INT. 2
DIAMETER END OF 3/4 DIAMETER SHOULDER COLLAR CITEM 16) THRU OVAL — 10 NUT, 1/4-20"Hex :
SLOT IN SLIDE ARM, INSTALL LUMGER CAP SCREV CITEM 1 VITH P 1 R aiai32 X 3/6 PAN MD H
LOCKWASHER THRU SHOULDER COLLAR INTD BOTTOM MOUWTING HOLE OF A~B 1% O Nt H
ENCLOSURE CATALOG NUNBERS OPERATING HANDLE AND TIGHTEN. THE SLIDE ARM SHOULD MOVE UF AND DOWH - e eosv-tiz .
SHAOTIRY. ! g e o ASENRLY 1 DEFERATER
WAGOCPX4B12  WA72CPX6012 ¢ '
WAGOCPX60IZ  WA72CPXT212 PRUCEED VITH STEPS LISTED ON OTHER INSTALLATION INSTRUCTIDN TCI COMPLETE 16 SHOWLIER COLLAR, 3/4 Dl ! BRACKET
WAT2CPX7218 ASSEMBLY OF DISCUNNECT AND MECHANISH, ITEM 14 i SCREW 5/16-18 X { HE
DEFEATER
BRACKET
HANDLE
ITEM 15 ~ RETURN
“J SPRING
ENCLOSURE
PANEL
CONNECTING | / ) \ ITEMS
ALLEN-BRADLEY ELOSRE ROD LENGTH 206 / . 687
BULLETIN 1494V : =
DISCONNECT DR | e | o _l_ / e - \ .
OPERATOR FOR 6042° | 7042 DEEP | DEEP | DEEP — K >
CIRCUIT BREAKER E ” ITEN 5
Hinloleliow Nl aoalrI®E s s s . @
1454V-DS30
30 AMP) 159 8 j; jl? T
v 397 | 947 | 197 | 486 | 433 | 394 206 | - | - - {#10-32] 769 | 1369 | 1969 - - P) o o TN 4
1494V-DS100 e |
€100 A/SERIES B} |
1494V~ 201 8 o
o | 264 {838 | 236 | 4as | a2 | a7z {3se | - | - - || 738 | 1333 | 1938 LS l ITeMs
1434V-H40 FIR 136 0 RCY §vncu UE ﬂ 8 9 10
s d 603 {189 | 138 | a2 | 488 | 138 ave | - | - - |be-3z| 794 | 1394 ] 1994 R CIRGULT BREAKE!
15-150 ANP G.E. o L
1494V-H40 FOR 436 g U
Loy o voer | 609 | usy | 138 | a2 | ase | nae | ave | - - L RO R L !
1494450 FIR 200 § | °
(50150 MNP VEST 662 1242 | 138 | 289 | 725 | 136 | 289 | &9 | 203 | 1042 [is4-20) 753 | 1353 1953 (_ - | CENTERPOST
ATION INSTRUCTHING
4 261 8 . / L INSTALL
T e TR | - tmos | 12| a4z sae| 172 | aka | sc | 16 | 107 |iaes0] 766 | 1266 | 1966 ? OPERATOR ADAPTER
UNC o O CATALOG N WAZIABVA
i OFFSET
NOTE:  REFER T0 ALLEN~BRADLEY INSTRUCTIONS FOR LOCATING FUSE BLOCKS. S i \ \
#10-32 UNF | CENTERLING
YR 7 b OF PANEL L
N { /




